THREE VILLAGE CENTRAL SCHOOL DISTRICT OF BROOKHAVEN AND SMITHTOWN

MEETING OF THE BOARD OF EDUCATION September 25, 2013

Anthony Gabriele, Student Representative to the Board

Meeting of the Board of Education of the Three Village Central School District of Brookhaven and Smithtown held at the North Country Administration Center, 100 Suffolk Avenue, Stony Brook, New York 11790 on September 25, 2013 at 6:00 p.m.

Members present:	Jeffrey Kerman, President
	William F. Connors Jr., Vice President
	Irene Gische, Trustee
	Jonathan Kornreich, Trustee

Members absent:	Deanna Bavlnka, Trustee Inger Germano, Trustee
	6
	Susanne A. Mendelson, Trustee
Also present:	Cheryl Pedisich, Superintendent
-	Jeffrey Carlson, Assistant Superintendent for Business Services
	Kevin Scanlon, Assistant Superintendent for Educational Services
	Gary Dabrusky, Assistant Superintendent for Human Resources
	Kathleen Sampogna, District Clerk

Visitors

CALL TO Dr. Kerman called the meeting to order at 6:05 p.m. ORDER MOVE INTO On motion by Mr. Kornreich, seconded by Mr. Connors, and carried by a 4-0-0 vote, the Board EXECUTIVE moved into Executive Session at 6:05 pm in accordance with Open Meeting Law to discuss SESSION 105 (f) for the purpose of discussion a disciplinary matter involving a particular student. RECONVENE The meeting reconvened into open session at 7:35 p.m. Anthony Gabriele led the pledge of INTO PUBLIC allegiance. SESSION CHANGES IN Addendum Page: THE MEETING AGENDA Item G-1 – Approval of Appointment Agreement of Interim Principal for Paul J. Gelinas Junior High School **Replacement Pages:** Instructional Personnel Cover Page Instructional Personnel Schedule A10 PUBLIC There was no public participation at this time. PARTICIPATION REPORTS Anthony Gabriele reported on various upcoming events in the district, including Homecoming Student Representative at Ward Melville High School, and encouraged members of the community and staff to attend. Report 2012-2013 Grades Mr. Scanlon presented the 2012-2013 Grades 3-8 State Assessments and Regents Results report. 3-8 State Assessments and **Regents Results** ITEMS FOR BOARD ACTION Acceptance of Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education accept with gratitude the following item: Donation

A check in the amount of \$1,593.29 donated to Ward Melville High School by Target's Take Charge of Education program.

On motion by Mrs. Gische, seconded by Mr. Kornreich, and carried by a 4-0-0 vote, the Board approved the resolution as presented.

Declaration of Surplus Equipment Upon the recommendation of the Superintendent of Schools, be it RESOLVED that the items listed below be declared surplus and disposed of in the best interest of the Three Village Central School District:

Item Description	Model	Serial #	<u>Three Village</u> <u>#</u>	Condition
Hard Point	n/a	n/a	$\frac{\pi}{n/a}$	Good
Compass				
Parallel Bars	n/a	n/a	09459	Poor
Balance Beam	n/a	n/a	004293	Poor
Vaulting Horse	n/a	n/a	004290	Poor
Spring Board	n/a	n/a	n/a	Poor
Soccer Goal	n/a	n/a	n/a	Poor
Treadmill	Landis	n/a	n/a	Poor
Acoustic Shells	Wenger	n/a	12182/001837	Poor
(7)	-		-42	
Small Refrigerator	Avanti	A6026917	n/a	Poor
		01309627 00534		
Xerox	M15i	00334 PDE-	KRK1JCp602723	Poor
	IVI I JI	166582	ASC84Y950245	1 001
WorkCentre				

On motion by Mrs. Gische, seconded by Mr. Kornreich, and carried by a 4-0-0 vote, the Board approved the resolution as presented.

Declaration of Upon Surplus Textbooks listed

Upon the recommendation of the Superintendent of Schools, be it RESOLVED that the books listed below be declared surplus and disposed of in the best interest of the Three Village Central School District. The books listed below are outdated and no longer in use:

<u>Title</u>	Publisher/ Date of Publication	<u>ISBN</u>	No. of Copies
Course I Integrated Mathematics	Amsco/1998	0-8770-230-3	Approximately 400

On motion by Mr. Connors, seconded by Mrs. Gische, and carried by a 4-0-0 vote, the Board approved the resolution as presented.

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the late requests for transportation to the private/parochial schools listed below be approved:

School	<u>Request</u> Number
Harbor Country Day School	01-14
Harbor Country Day School	02-14
Harbor Country Day School	03-14
Harbor Country Day School	04-14
Harbor Country Day School	05-14
Harbor Country Day School	06-14
Harbor Country Day School	07-14
Knox School	08-14
Knox School	09-14
Laurel Hill School	10-14
Laurel Hill School	11-14
Laurel Hill School	12-14
North Shore Montessori	13-14
North Shore Montessori	14-14
North Shore Montessori	15-14
North Shore Montessori	16-14
Our Savior New America	17-14
Our Savior New America	18-14
Our Savior New America	19-14
Smithtown Christian School	20-14
Smithtown Christian School	21-14
Smithtown Christian School	22-14
Smithtown Christian School	23-14

Late Transportation Requests to Private/Parochial Schools

Sts.	Philip & James School	24-14
Sts.	Philip & James School	25-14

On motion by Mr. Connors, seconded by Mrs. Gische, and carried by a 4-0-0 vote, the Board approved the resolution as presented.

Be it RESOLVED that the Board of Education hereby certifies the results of the Emma S. Clark Memorial Library Budget Vote held on September 18, 2013.

PROPOSITION NO. 1 - BUDGET

Shall the Board of Education appropriate funds in the amount of \$4,830,052 supporting the 2014 operating budget of the Emma S. Clark Memorial Library, with said sum to be raised by tax on the taxable property of the Three Village Central School District?

Yes - 518 No - 79

On motion by Mrs. Gische, seconded by Mr. Kornreich, and carried by a 4-0-0 vote, the Board approved the resolution as presented.

RESOLVED, that the Board of Education of the Three Village Central School District approves the terms of the Agreement between the Board and Thomas Colletti, as the Interim Principal for the P.J. Gelinas Junior High School, subject to and contingent upon the Commissioner of Education approving and issuing a waiver pursuant to the Retirement and Social Security Law, and hereby authorizes the President of the Board of Education to execute the Agreement on behalf of the Board.

On motion by Mr. Connors, seconded by Mrs. Gische, and carried by a 4-0-0 vote, the Board approved the resolution as presented.

Personnel Matters

Certification of

Emma S. Clark

Budget Vote

Approval of

Appointment

Agreement of

Junior High

School

Interim Principal

for Paul J. Gelinas

Memorial Library

Instructional

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Three Village Board of Education approve the instructional personnel items as described in the schedules listed below:

RESIGNATIONS

Name	School/Assignment	Effective Date	Date of Hire
Damsky, Kara	Ward Melville/ Teaching Assistant	9/25/13	9/1/08
Glancz, Sabrina	Gelinas JHS/ Teaching Assistant	9/20/13	10/29/08

APPOINTMENT TO INSTRUCTIONAL POSITIONS

Candela, Laura

Teaching Assistant
St. Joseph's College - BA
Previous Tenure – No
Related to current employee - No
Salary Step/Level – \$26,846, 1/3
Effective $-9/26/13$

This is a three year probationary appointment with tenure due 9/26/16. This appointment is due to the resignation of Sabrina Glancz. Ms. Candela will be assigned to Paul J. Gelinas Junior High School for the 2013-14 school year. Fingerprint clearance is on file.

Fitzsimons, Judith

Teaching Assistant St. John's University - BA, MS Previous Tenure – No Related to current employee - No Salary Step/Level – \$26,846, 1/3Effective – 9/26/13

This is a three year probationary appointment with tenure due 9/26/16. This appointment is due to CSE/IEP recommendation. Ms. Fitzsimons will be assigned to Nassakeag Elementary School for the 2013-14 school year. Ms. Fitzsimons is a substitute teacher in the district and fingerprint clearance is on file.

Levenson, Melissa

Teaching Assistant SUNY, Oneonta – BS Previous Tenure – No Related to current employee - Yes Salary Step/Level – \$26,846, 1/3 Effective – 9/26/13 This is a three year probationary appointment with tenure due 9/26/16. This appointment is due to the resignation of Kristie Kalkhof. Ms. Levenson will be assigned to Paul J. Gelinas Junior High School for the 2013-14 school year. Ms. Levenson is the daughter of Steven Levenson a guidance counselor at Ward Melville High School. Fingerprint clearance is on file.

APPOINTMENTS TO SUBSTITUTE TEACHER/NURSE/PARAPROFESSIONAL/ TEACHING ASSISTANT POSITIONS

Substitute Teachers:

Karen Roarty

Ms. Roarty was excessed from her teaching position in June 2013. She has been recalled to a .2 position at The Three Village Academy. Ms. Roarty has requested to be added to our substitute teacher list for the 2013-2014 school year. Fingerprint clearance is on file.

Stephanie Musso

Fingerprint clearance has been received.

Vincent Oliver

Mr. Oliver worked as a custodian from 2003-2006 and a substitute teacher from 2007-2009. Mr. Oliver has requested to return to our substitute teacher list for the 2013-2014 school year. Fingerprint clearance is on file.

Garrett Schnettler

Mr. Schnettler was board approved as a coach at the January 22, 2013 board meeting. Mr. Schnettler is the son of Janis Schnettler, a secretary in the health office at Gelinas. Fingerprint clearance is on file.

Taylor Harney

Ms. Harney was board approved as a coach at the August 27, 2013 board meeting. Ms. Harney has requested to be put on the substitute teacher list for the 2013-2014 school year. Fingerprint clearance is on file.

Elise Marley

Ms. Marley was excessed from her teaching position in June 2013. She has been recalled to a .6 teaching position at Murphy Jr. High School. Ms. Marley has requested to be added to our substitute teacher list for the 2013-2014 school year. This will be effective 9/9/13. Fingerprint clearance is on file.

Substitute Teaching Assistants:

Jennifer Schneider

Fingerprint clearance has been received.

APPOINTMENTS TO FALL SUPERVISION/COACH POSITIONS

Last Name	<u>First</u> <u>Name</u> ol Coaches	<u>Building</u>	<u>Assignment</u>	<u>Effective</u>	<u>Step</u>	<u>Year</u>	<u>Total</u> <u>Years</u>	Stipend	<u>Status</u>
Hoppey	Mike	Gelinas	Girls Tennis 7/8	Fall	3	5	5	\$4,843.00	Retired
Replacing All	lyson Konczy	nin on the 8	/12/13 Agenda						
Laskow	Hanna	Gelinas	Cheer- leading 7/8	Fall	1	1	1	\$4,549.00	Out Of District
Cruz	Shauna	Murphy	Cheer- leading 7/8	Fall	1	1	1	\$4,549.00	Out Of District
High School Coaches									
Howard	Cynthia	WMHS	JV Boys Volleyball	Fall	1	1	1	\$6,319.00	In District

Replacing Jeff Heck On The 7/2 Agenda

APPOINTMENT OF CO-CURRICULAR SPONSORS

Last Name	<u>First</u>	Building	Activity	Effective	Rate	Not to
	Name					Exceed
Co-Curricular	<u>Clubs</u>					
Esser	Chris	Gelinas	Art Club	2013-	\$1,414.00	\$1,414.00
				2014		
Rabbitt	Alisa	Gelinas	Chamber Orchestra	2013-	\$2,448.00	\$2,448.00
				2014		

Nearen Celina Global Language Hoor, 2013 S1,141.00 S1,414.00								
NarryKurenCelina SocietyColoral Language Home20.3 SocietyS1.414.00S1.414.00BroadhurstJanetCelinaHome und Career Club2013 2014S1.414.00S1.414.00PortugalMarkCelinaLagbing Club2013 2014S707.00VietaMeakDebbieGelinaLagbing Club2013 2014S707.00VietaPortul sitpend Tr- bott LightersContaxcioQ113 2014S2.005.00S2.005.00SaccoMikeGelinaMath Team - The grade2013 2014S2.005.00S2.005.00SaccoMikeGelinaNational Janior Honor 2014S1.414.00S1.414.00ShawJackieGelinaS.A.V.E.2014 2014S1.414.00ShawJackieGelinaScience Olympiad2013 2014S1.414.00SitgedmaireKevinGelinaScience Olympiad2013 2014S1.414.00SitgedmaireRiseScience Olympiad2013 2014S1.414.00SitgedmaireBrianContandire re2013 2014S1.414.00SitgedmaireBrianGelinasScience Olympiad2013 2014S1.414.00PolawerBrianGelinasScience Olympiad2013 2014S1.414.00SitgedmaireBrianGelinasScience Olympiad2013 2014S1.414.00PolawerBrianGelinasVieta Fascher2014 2014S1.414.00SitgedmaireBrianTechnolo	I	Elliot	Doug	Gelinas	Three Village Mock Trial		\$1,414.00	\$1,414.00
BrackhurstJanetGelinaInnor and Career Club2013 2014\$1,41.400\$1,41.400PortugiMarkGelinaIzzt Band2013 2013\$2,448.00\$2,448.00MeekDebkeGelinaIzgbring Club2013 2013\$707.00ViewForola signed for both Lightery Co-Advectors< not occased \$1414.00	I	Roarty	Karen	Gelinas	6 6	2013-	\$1,414.00	\$1,414.00
PortugalMarkGelinasLaz Band2013 Lag BandS2,448.00S2,448.00S2,448.00MeekDebbieGelinasLighting Club2013 2013S707.00S707.00"Total streem Tor builtime Co-AdvisorsDebbieGelinasMath Team - Thi prade2013 2014S2.005.00S2.005.00SaccoMikeGelinasMath Team - Thi prade2013 2014S2.005.00S2.005.00S2.005.00SaccoMikeGelinasMational Ant Junior Honor Sociev2013 2014S1.414.00S1.414.00FibersTimGelinasSacience Olympial Sociev2013 2014S1.414.00S1.414.00ShawJackieGelinasScience Olympial 20132013 2013S1.414.00S1.414.00SingerinaGelinasScience Olympial 20132013 2013S1.414.00S1.414.00DagaerreBrianGelinasScience Olympial 20132013 2013S1.414.00S1.414.00ParentaJisteneGelinasScience Olympial 20132013 2013S1.414.00S1.414.00ParentaHariasGelinasScience Olympial 20132013 2013S1.414.00S1.414.00ParentaKraigGelinasTechnology/Woodworking 2013S1.414.00S1.414.00ParentaRobertGelinasTechnology/Woodworking 2013S1.955.00S1.955.00ParentaNameGelinasYeanbok (Shareh)2013 2014S2.448.00S2.448.00 </td <td>I</td> <td>Broadhurst</td> <td>Janet</td> <td>Gelinas</td> <td></td> <td>2013-</td> <td>\$1,414.00</td> <td>\$1,414.00</td>	I	Broadhurst	Janet	Gelinas		2013-	\$1,414.00	\$1,414.00
MeckDebieCellinaLighting Club2013 2014 2014 2014\$707.00 2014 2014GunrancioVickGelinaLighting Club2013 2014\$707.00 2014\$707.00 2014McNamarLauraGelinaMath Team - AhrOng pade 20142013 2014\$2,205.00 2014\$2,245.00 2014\$1,414.00 2014\$1,4	I	Portugal	Mark	Gelinas	Jazz Band	2013-	\$2,448.00	\$2,448.00
GuarascioVickiGelinasLighting Club2014 2014707.00"Total signed for both. Elighting Co-Advisors not to exceed 5141.00KammaS2.005.00S2.005.00RosenthalChristneGelinasMath Team - 3th pdug rand Society2013 2013S2.005.00S2.005.00SaccoMikeGelinasNational Ant Junior Hoom Society2013 2013S2.005.00S2.005.00ShawJackieGelinasNational Junior Hoom Society2013 2014S1.414.00S1.414.00SidegelmaierKevinGelinasScience Olympiad 20142014S1.414.00S1.414.00GerberMonicaGelinasScience Olympiad 20142014S1.414.00S1.414.00YowaldGaryGelinasScience Olympiad 20142014S1.414.00S1.414.00YowaldGaryGelinasScience Olympiad 20142014S1.414.00S1.414.00YowaldGaryGelinasScience Olympiad 20142014S1.414.00S1.414.00YowaldGaryGelinasScience Olympiad 20142013S1.414.00S1.414.00YowaldGaryGelinasNodent Concil 20142013S1.414.00S1.414.00Parter Stapped For all ScienceJostafiaScience Olympiad 2013S1.414.00S1.414.00Parter Stapped For all ScienceGelinasNodent Concil 2013S1.414.00S1.414.00Parter Stapped For all ScienceGelinasNodencil 2013S1.	N	Meek	Debbie	Gelinas	Lighting Club	2013-	\$707.00	
I ⁺ Prota signed for both Lighting Co-Advisors MoNamara Laura Gelinas Math Team - 7th grade 2013. 2013. \$2,005.00 <	(Guarascio	Vicki	Gelinas	Lighting Club		\$707.00	
McNamanLauraGelinasMath Team - 7h grade2014 2014S2,005.00S2,005.00RosenhulChristineGelinasMath Team - 8th/yh grade2014 2014S2,005.00S2,005.00SaccoMikeGelinasNational Art Junior Honor Sciety2014 2014S1,414.00S1,414.00EhlernTimGelinasNational Junior Honor Sciety2014 2014S1,414.00S1,414.00ShawJackieGelinasScience Olympiad2014 	4	*Total stinend fo	r both Lightir	og Co-Advis	ors not to exceed $$1/11/00$	2014		
RosenthalChristineGelinasMath Team - ship-thg gade201.4 201.4S2.005.00 <td></td> <td>-</td> <td>•</td> <td>•</td> <td></td> <td>2013-</td> <td>\$2,005.00</td> <td>\$2,005.00</td>		-	•	•		2013-	\$2,005.00	\$2,005.00
SaccioParticleParticleParticleSaccioSacciety2013S1,414.00S1,414.01EhlersTimGelinasNational An Junior Homo2013S2,005.00ShawJackieGelinasSA.VE.2013S1,414.00S1,414.00SilegelmnierKevinGelinasScience Olympiad2013S1,414.00S1,414.00GerberMonicaGelinasScience Olympiad2013S1,414.00S1,414.00VorwaldGaryGelinasScience Olympiad2013S2,448.00S2,448.00VorwaldGaryGelinasSucence Olympiad2013S3,910.00S3,910.00ScriptureBrianGelinasTechnology/Woodworking2013S1,414.00S1,414.00PoPersioRobertGelinasTechnology/Woodworking2014S1,414.00S1,414.00JongRobertGelinasVocal Vikings2013S2,448.00S2,448.00PoPersioRobertGelinasVocal Vikings2014S1,955.00S1,955.00MancoSteveGelinasYearbook (Shared)2013S1,955.00S1,955.00PortinioDarieleGelinasYearbook (Shared)2013S1,414.00S1,414.00GenserBobMarphAinatiationTechnology2014S1,414.00S1,414.00PortiniTarynMarphCommunity Connections2013S1,955.00S1,955.00GeninatiEmmaMarphCommunity Connections<	F	Rosenthal	Christine	Gelinas	0			
SocietySocietySocietyFalseTimGelinasNavapaperSocietySocietyShawJackieGelinasNavapaperSocietySocietyGerberMonicaGelinasScience Olympiad2013S1,414.00GerberMonicaGelinasScience Olympiad2013S1,414.00JaguerreEdGelinasScience Olympiad2013S2,448.00VorwaldGaryGelinasScience Olympiad2013S2,448.00SocietyScience Olympiad2013S2,448.00S3,910.00S3,910.00SocietyRelinasStudent Council2013S1,414.00S1,414.00SocietyRobertGelinasTheater Ans Director2013S2,448.00S2,448.00DePensioRobertGelinasTheater Ans Director2013S2,448.00S2,448.00InneoSteveGelinasYearbook (Shared)2013S1,955.00S1,955.00GringuennaiTaryaMurphyCharinaber Crohology2014S1,414.00S1,414.00GenaveFor bor ber ber berookCommunity Connections2013S2,448.00S2,448.00GringuennaitEnnibleCommunity Connections2013S1,955.00S1,955.00GringuennaitTaryaMurphyCommunity Connections2013S1,915.00S1,955.00GringuennaitEnnibleCommunity Connections2013S1,414.00S1,414.00GeinasMurphyCommunity Co					· ·	2014		\$1,414.00
ShawSocietyS	F	Ehlers	Tim	Gelinas			\$2.005.00	\$2.005.00
Stiegelmaier Kevin Gelinas S.A.V.E. 2014 S1,414.00 S1,414.00 Gerber Monica Gelinas S.cience Olympial 2013 S1,414.00 Daguerre Ed Gelinas Science Olympial 2013 S1,414.00 Vorwald Gary Gelinas Science Olympiad 2013 S2,448.00 Stripture Brian Gelinas Student Council 2013 S1,414.00 S1,414.00 Scripture Brian Gelinas Theatre Arts Director 2013 S1,414.00 S1,414.00 DePersio Robert Gelinas Theatre Arts Director 2014 S1,414.00 S1,414.00 Hayes Daniel Gelinas Vocal Vikings 2013 S2,448.00 S2,448.00 S1,955.00 S1,914.00	ç	Shaw	Jackie	Gelinas	Society	2014		
GerberMonicaGelinasScience Olympind2013 2014\$1,114.00DaguerreEdGelinasScience Olympind2013 2014\$1,414.00VorwaldGaryGelinasScience Olympind2013 2014\$2,448.00*Total stigend for all Science Olympiad Co-Advisors not to exceed\$2576.00\$3,910.00\$3,910.00ScriptureBrianGelinasStudent Council2013 2013\$1,414.00\$1,414.00DePersioRobertGelinasTechnology/Woodworking2013 2013\$1,414.00\$2,448.00DePersioRobertGelinasWind Easemble2013 2013\$2,2448.00\$2,448.00HayesDanielGelinasVocal Vikings2013 2013\$1,955.00\$1,955.00AmocoSteveGelinasYearbook (Shared)2013 2013\$1,955.00\$1,955.00*Total stipend forboth Yearbook Co-Advisors not to exceed \$3910.00\$1,141.00\$1,414.00CinquernaniTarynMurphyCommunity Connections, 2013\$1,707.00\$707.00CinquernaniTarynMurphyCommunity Connections, 2013\$1,414.00\$1,414.00GeorinattiEmilianoMurphyForeign Language Hono 2013\$1,414.00\$1,414.00GioliniKerriMurphyForeign Language Hono 2013\$1,414.00\$1,414.00GioliniKerriMurphyForeign Language Hono 2013\$1,414.00\$1,414.00GoliniKerriMurphyForeign Lan					* *	2014	. ,	
DaguerreEdGelinasScience Olympial 20132014 2014\$1,414.00 2014VorwaldGaryGelinasScience Olympial Coordinator2013 2014\$2,448.00**Total stipend for all Science Olympiad ScriptureBrianGelinasStudent Council 20142013 2014\$3,910.00 2013\$3,910.00 2013\$3,910.00 2013\$3,910.00 2014HerrelKraig RobertGelinasTechnology/Woodworking 20132013- 2013\$1,414.00 2014\$1,414.00 2014DePersioRobertGelinasTheatre Arts Director 20132013- 2013\$2,448.00 22,448.00\$2,448.00 24,448.00HayesDanielGelinasVocal Vikings 20132013- 21,448.00\$2,448.00 2013\$2,448.00 2013ChiappinoDarleneGelinasYearbook (Shared) 20132013- 2013-\$1,955.00 2013- 2014\$1,955.00 2013- 2014*Total stipend for GensnerBobMurphy Murphy Community Connections, 2013- 2013- 2013-\$1,414.00 2014-\$1,414.00 2013- 2014-\$1,414.00 2014-GeninattiEmilianoMurphy Murphy Community Connections, 2013- <td></td> <td>-</td> <td></td> <td></td> <td></td> <td>2014</td> <td></td> <td>φ1,+14.00</td>		-				2014		φ1,+14.00
VorwaldGaryGelinas GordinatorScience Olympial Co-Advisors not to exceed \$276.00\$2,448.00**Total stipend for all Science Olympiad Co-Advisors not to exceed 	-				• •	2014		
Total stipen for all Science Olympial Co-Advisors not to exceed \$5276.00 2014 **Total stipen for all Science Olympial Co-Advisors not to exceed \$5276.00 Scripture Brian Gelinas Student Council 2013 \$3,910.00 \$3,910.00 Scripture Brian Gelinas Technology/Woodworking 2013 \$1,414.00 \$1,414.00 DePersio Robert Gelinas Theatre Arts Director 2013 \$2,448.00 \$2,448.00 Hayes Daniel Gelinas Vind Ensemble 2014 \$1,955.00 \$1,955.00 Chiappino Darlene Gelinas Yearbook (Shared) 2013 \$2,448.00 \$2,448.00 "Total stipend for both Yearbook Vearbook (Shared) 2014 \$1,955.00 \$1,955.00 Gesner Bob Murphy Animation/Technology 2013 \$2,448.00 \$2,448.00 Perraro Virginia Murphy Community Connections, 2013 \$2,448.00 \$2,448.00 Gesner Bob Murphy Community Connections, 2013 \$2,7448.00 \$2,448.00 Ferraro <td></td> <td>-</td> <td></td> <td></td> <td>• •</td> <td>2014</td> <td></td> <td></td>		-			• •	2014		
S2276.00ScriptureBrianGelinasStudent Council2013 2014S3,910.00 2014S3,910.00 2014S3,910.00 2014S3,910.00 2014S3,910.00 2014S3,910.00 					Coordinator		\$2,448.00	
ScriptureBrianGelinasStudent Council2013- 2014\$3,910.00\$3,910.00HerrelKraigGelinasTechnology/Woodworking2013- 2013\$1,414.00\$1,414.00DePersioRobertGelinasTheatre Arts Director2013- 2014\$2,448.00\$2,448.00DePersioRobertGelinasWind Ensemble2013- 2014\$2,448.00\$2,448.00HayesDanielGelinasYearbook (Shared)2013- 2014\$1,955.00\$1,955.00ChiappinoDarleneGelinasYearbook (Shared)2013- 2014\$1,955.00\$1,955.00ChiappinoDarleneGelinasYearbook (Shared)2013- 2014\$1,414.00\$1,414.00CinquemaniTarynMurphy MorkhopAnimation/Technology 2014\$1,414.00\$1,414.00CinquemaniTarynMurphy MurphyConmunity Connections, co-sponsor2013- 2013-\$707.00\$707.00FerraroVirginiaMurphy Poreign Language Honor Society, co-sponsor2013- 2013-\$1,414.00\$1,414.00GeoninattiEmilianoMurphy MurphyForeign Language Honor Society, co-sponsor\$1,414.00\$1,414.00GoliniKerriMurphy MurphyGirk' Select Choir 2013-\$1,414.00\$1,414.00PolleraAnthonyMurphy MurphyGirk' Select Choir 2013-\$1,414.00\$1,414.00PolleraAnthonyMurphyGirk' Select Choir 2013-\$2,005\$2,005			or all Science (Olympiad Co	o-Advisors not to exceed			
HerrelKraigGelinasTechnology/Woodworking2013 2014\$1,414.00\$1,414.00DePersioRobertGelinasTheatre Arts Director2013 2014\$6,789.00\$6,789.00DePersioRobertGelinasVocal Vikings2013 2014\$2,2488.00\$2,448.00HayesDanielGelinasWind Ensemble2013 2014\$2,2488.00\$2,448.00MancoSteveGelinasYearbook (Shared)2013 2013\$1,955.00\$1,955.00ChiappinoDarleneGelinasYearbook (Shared)2013 2014\$1,955.00\$1,955.00"Total stipend for both Yearbook Co-Advisors not to exceed \$3910.00S1,414.00\$1,414.00\$1,414.00GesnerBobMurphyAnimation/Technology Workshop2013 2014\$1,414.00\$1,414.00FerraroVirginiaMurphyCommunity Connections, co-sponsor2013 2014\$707.00\$707.00DominoEmmaMurphyCommunity Connections, co-sponsor2014 2014\$1,414.00\$1,414.00GeoninattiEmilianoMurphyForeign Language Hono 2014\$1,77.00\$707.00\$707.00GoliniKerriMurphyGerla-Voice Club2013 2014\$1,414.00\$1,414.00GeoninattiEmilianoMurphyForeign Language Hono 2013 2014\$1,77.00\$707.00MandelLaurieMurphyGerla-Voice Club2013 2014\$1,414.00\$1,414.00PolleraAnthony<			Brian	Gelinas	Student Council		\$3,910.00	\$3,910.00
DePersioRobertGelinasTheatre Arts Director2013 2014\$6,789.00\$6,789.00DePersioRobertGelinasVocal Vikings2013 2014\$2,448.00\$2,448.00HayesDanielGelinasWind Ensemble2013 2014\$2,448.00\$2,448.00MancoSteveGelinasYearbook (Shared)2013 2014\$1,955.00\$1,955.00ChiappinoDarleneGelinasYearbook (Shared)2013 2014\$1,955.00\$1,955.00CinquemaniTarynMurphyAnimation/Technology Workshop2013 2014\$1,414.00\$1,414.00GesnerViginiaMurphyCommunity Connections, co-sponsor2013 2014\$707.00\$707.00DominoEmmaMurphyCommunity Connections, co-sponsor2013 2014\$1,414.00\$1,414.00FerraroViginiaMurphyForeign Language Club2013 2013\$1,414.00\$1,414.00GoliniEmilianoMurphyForeign Language Honor Society, co-sponsor2014 2014\$707.00\$707.00GoliniKerriMurphyGeriel Language Honor 2013\$1,414.00\$1,414.00\$1,414.00GoliniKerriMurphyGet-A-Voice Club2013 2014\$1,414.00\$1,414.00PolleraAnthonyMurphyGirls' Select Choir2013 2014\$1,414.00\$1,414.00PolleraAnthonyMurphyHS Musical Grade2013 2014\$2,2005\$2,005 <tr< td=""><td>ł</td><td>Herrel</td><td>Kraig</td><td>Gelinas</td><td>Technology/Woodworking</td><td>2013-</td><td>\$1,414.00</td><td>\$1,414.00</td></tr<>	ł	Herrel	Kraig	Gelinas	Technology/Woodworking	2013-	\$1,414.00	\$1,414.00
DePersioRobertGelinasVocal Vikings2013 2014\$2,448.00\$2,448.00HayesDanielGelinasWind Ensemble 20132013 2014\$2,448.00\$2,448.00MancoSteveGelinasYearbook (Shared) 20142013 2014\$1,955.00\$1,955.00ChiappinoDarleneGelinasYearbook (Shared) 20142013 2014\$1,955.00\$1,955.00"Total stipend for both Yearbook Co-Advisors not to exceed \$3910.00GessnerBo 2014Murphy 2014\$2,448.00\$2,448.00CinquemaniTarynMurphyCommunity Connections, co-sponsor2013 2014\$2,448.00\$2,448.00PerraroVirginiaMurphyCommunity Connections, co-sponsor2014\$707.00\$707.00JominoEmmaMurphyCoronunuity Connections, co-sponsor2014\$1,414.00\$1,414.00GeoninattiEmilianoMurphyForeign Language Honor Society, co-sponsor2013 2014\$1,414.00\$1,414.00GoliniKerriMurphyGerid's Select Choir2013 2014\$1,414.00\$1,414.00MandelLaurieMurphyGirls' Select Choir2013 2014\$1,414.00\$1,414.00PolleraAnthonyMurphyGirls' Select Choir2013 2014\$1,414.00\$1,414.00PolleraAnthonyMurphyHS Musical Production/Orchestra and 2014\$2,005 2014\$2,005 2014\$2,005 2014MandelLaurieMur	Ι	DePersio	Robert	Gelinas	Theatre Arts Director	2013-	\$6,789.00	\$6,789.00
HayesDanielGelinasWind Ensemble2013 2014\$2,448.00\$2,448.00MancoSteveGelinasYearbook (Shared)2013- 2014\$1,955.00\$1,955.00ChiappinoDarleneGelinasYearbook (Shared)2013- 2014\$1,955.00\$1,955.00*Total stipend for both Yearbook Co-Advisors not to exceed \$3910.00S1,414.00\$1,414.00\$1,414.00GesnerBobMurphyAnimation/Technology Workshop2013- 2014\$2,448.00\$2,448.00CinquemaniTarynMurphyCommunity Connections, co-sponsor2013- 2014\$707.00\$707.00DominoEmmaMurphyCommunity Connections, co-sponsor2013- 2014\$707.00\$707.00DominoEmmaMurphyForeign Language Club2013- 2013-\$1,414.00\$1,414.00GeoninattiEmilianoMurphyForeign Language Honor Society, co-sponsor2014- 2014\$707.00\$707.00GoliniKerriMurphyForeign Language Honor Society, co-sponsor\$1,414.00\$1,414.00MandelLaurieMurphyGirls' Select Choir2013- 2014\$1,414.00\$1,414.00PolleraAnthonyMurphyJHS Musical Production/Orchestra and Vocals\$1,414.00\$1,414.00PolleraAnthonyMurphyJHS Musical Production/Orchestra and Vocals\$2,005\$2,005DucaAnneMurphyMurphyMath Teams - 7th 2013-\$2,248.00\$2,448.0	Ι	DePersio	Robert	Gelinas	Vocal Vikings	2013-	\$2,448.00	\$2,448.00
MancoSteveGelinasYearbook (Shared)2013. 2014\$1,955.00\$1,955.00ChiappinoDarleneGelinasYearbook (Shared)2013. 2014\$1,955.00\$1,955.00*Total stipend for both Yearbook Co-Advisors not to exceed \$3910.00GessnerBobMurphyAnimation/Technology Workshop2013. 2014\$2,448.00\$2,448.00\$2,448.00CinquemaniTarynMurphyChamber Orchestra2013. 2014\$707.00\$707.00DominoEmmaMurphyCommunity Connections, co-sponsor2013. 2014\$707.00\$707.00TrinidadMargaretMurphyEcology club2013. 2013.\$1,414.00\$1,414.00GeoninattiEmilianoMurphyForeign Language Club2013. 2014.\$707.00\$707.00GoliniKerriMurphyForeign Language Honor Society, co-sponsor2014\$707.00\$707.00GoliniKerriMurphyGet-A-Voice Club2013. 2013.\$707.00\$707.00MandelLaurieMurphyGirls' Select Choir2013. 2014.\$1,414.00\$1,414.00PolleraAnthonyMurphyJHS Musical Production/Orchestra and Vocals\$3,254.00\$3,254.00PolleraAnthonyMurphyHS Musical Production/Orchestra and Vocals\$2,005\$2,005MarleyEliseMurphyMurphy Math Teams -7th 2013.\$2,005\$2,005MarleyEliseMurphyNational Art Junior Honor 2	I	Hayes	Daniel	Gelinas	Wind Ensemble	2013-	\$2,448.00	\$2,448.00
ChiappinoDarleneGelinasYearbook (Shared)2013- 2014\$1,955.00\$1,955.00*Total stipend for both Yearbook Co-Advisors not to exceed \$3910.00GessnerBobMurphyAnimation/Technology Workshop2013- 2014\$1,414.00\$1,414.00GessnerBobMurphyChamber Orchestra co-sponsor2013- 2014\$2,448.00\$2,448.00FerraroVirginiaMurphyCommunity Connections, co-sponsor2014\$707.00\$707.00DominoEmmaMurphyCommunity Connections, co-sponsor2014\$707.00\$707.00TrinidadMargaretMurphyForeign Language Club Society, co-sponsor2013- 2014\$1,414.00\$1,414.00GeoninattiEmilianoMurphyForeign Language Honor Society, co-sponsor2013- 2014\$707.00\$707.00GoliniKerriMurphyForeign Language Honor Society, co-sponsor2014- 2014\$1,414.00\$1,414.00MandelLaurieMurphyGitls' Select Choir2013- 2014\$707.00\$707.00PolleraAnthonyMurphyJHS Musical Production/Orchestra and 2014\$1,414.00\$1,414.00PolleraAnthonyMurphyJHS Musical Production/Orchestra and 2014\$2,005\$2,005DucaAnneMurphyJHS Musical Production/Orchestra and 2014\$1,414\$1,414.00PolleraAnthonyMurphyNational Art Junior Honor Society\$2,014\$2,005\$2,005	ľ	Manco	Steve	Gelinas	Yearbook (Shared)	2013-	\$1,955.00	\$1,955.00
*Total stipend for both Yearbook Co-Advisors not to exceed \$3910.00 Gessner Bob Murphy Workshop 2013 2014 \$1,414.00 \$1,414.00 Cinquemani Taryn Murphy Chamber Orchestra Co-sponsor 2013 2014 \$2,448.00 \$2,448.00 Ferraro Virginia Murphy Community Connections, co-sponsor 2013 2014 \$707.00 \$707.00 Domino Emma Murphy Community Connections, co-sponsor 2014 \$707.00 \$707.00 Trinidad Margaret Murphy Ecology club 2013 \$1,414.00 \$1,414.00 Geoninatti Emiliano Murphy Foreign Language Honor Society, co-sponsor 2014 \$707.00 \$707.00 Golini Kerri Murphy Gereign Language Honor Society, co-sponsor 2014 \$707.00 \$707.00 Mandel Laurie Murphy Gereign Language Honor Society, co-sponsor 2014 \$707.00 \$707.00 Mandel Laurie Murphy Girls' Select Choir 2013 \$1,414.00 \$1,414.00 Pollera Anthony Murphy JHS Musical 2013 \$2,448.0	(Chiappino	Darlene	Gelinas	Yearbook (Shared)	2013-	\$1,955.00	\$1,955.00
GessnerBobMurphy WorkshopAnimation/Technology Workshop2013 2014\$1,414.00\$1,414.00CinquemaniTarynMurphyChamber Orchestra2013 2014\$2,448.00\$2,448.00FerraroVirginiaMurphyCommunity Connections, co-sponsor2014 2014\$707.00\$707.00DominoEmmaMurphyCommunity Connections, co-sponsor2013 2014\$707.00\$707.00TrinidadMargaretMurphyEcology club2013 2014\$1,414.00\$1,414.00GeoninattiEmilianoMurphyForeign Language Club2013 2014\$1,414.00\$1,414.00GoliniKerriMurphyForeign Language Honor Society, co-sponsor2014 2014\$707.00\$707.00MandelLaurieMurphyGirls' Select Choir2013 2014\$1,414.00\$1,414.00PolleraAnthonyMurphyGirls' Select Choir2013 2014\$1,414.00\$1,414.00PolleraAnthonyMurphyJHS Musical Production2014 2014\$6,789.00\$6,789.00PolleraAnthonyMurphyJHS Musical Production2013 2014\$1,414.00\$1,414.00PolleraAnthonyMurphyJHS Musical Production2013 2014\$2,005 2014\$2,005\$2,005DucaAnneMurphyMurphy Math Teams - 7th 20132013 2014\$1,414\$1,414 2014MarleyEliseMurphyNational Junior Honor 2013 <t< td=""><td>*</td><td>*Total stipend fo</td><td>or both Yearbo</td><td>ook Co-Advi</td><td>sors not to exceed \$3910.00</td><td>2014</td><td></td><td></td></t<>	*	*Total stipend fo	or both Yearbo	ook Co-Advi	sors not to exceed \$3910.00	2014		
CinquemaniTarynMurphyChamber Orchestra2013- 2014\$2,448.00\$2,448.00FerraroVirginiaMurphyCommunity Connections, co-sponsor2013- 2014\$707.00\$707.00DominoEmmaMurphyCommunity Connections, co-sponsor2014\$707.00\$707.00TrinidadMargaretMurphyEcology club2013- 2014\$1,414.00\$1,414.00GeoninattiEmilianoMurphyForeign Language Club2013- 2014\$1,414.00\$1,414.00GeoninattiEmilianoMurphyForeign Language Honor Society, co-sponsor2014\$707.00\$707.00GoliniKerriMurphyForeign Language Honor Society, co-sponsor2014\$707.00\$707.00MandelLaurieMurphyGet-A-Voice Club2013- 2014\$1,414.00\$1,414.00PolleraAnthonyMurphyGirls' Select Choir 20142013- 2014\$1,414.00\$1,414.00PolleraAnthonyMurphyJHS Musical Production 20142013- 2014\$2,448.00\$2,448.00PolleraAnthonyMurphyJHS Musical Production 2014\$2,005\$2,005DucaAnneMurphyMurphy Math Teams - 7th 2013-\$2,005\$2,005MarleyEliseMurphyMurphy Math Teams - 8th 20142013- 2014\$1,414MarleyLaurieMurphyScience Olympiad Club- 2014\$2,005\$2,005MarleyEliseMurphy <td></td> <td>-</td> <td></td> <td></td> <td>Animation/Technology</td> <td></td> <td>\$1,414.00</td> <td>\$1,414.00</td>		-			Animation/Technology		\$1,414.00	\$1,414.00
FerraroVirginiaMurphyCommunity Connections, co-sponsor2013 2014\$707.00\$707.00DominoEmmaMurphyCommunity Connections, co-sponsor2013 2014\$707.00\$707.00TrinidadMargaretMurphyEcology club2013- 2014\$1,414.00\$1,414.00GeoninattiEmilianoMurphyForeign Language Club2013- 2014\$1,414.00\$1,414.00GeoninattiEmilianoMurphyForeign Language Honor Society, co-sponsor2014\$707.00\$707.00GoliniKerriMurphyForeign Language Honor Society, co-sponsor2014\$707.00\$707.00GoliniKerriMurphyGet-A-Voice Club2013- 2014\$1,414.00\$1,414.00MandelLaurieMurphyGirls' Select Choir 20142013- 2014\$1,414.00\$1,414.00PolleraAnthonyMurphyJHS Musical Production 2013- 2014\$2,448.00\$2,448.00PolleraAnthonyMurphyJHS Musical Production/Orchestra and Vocals2014\$3,254.00DucaAnneMurphyMurphy Math Teams - 7th Grade2013- 2014\$2,005\$2,005MarleyEliseMurphyMurphy Math Teams - 7th Grade2013- 2014\$2,005\$2,005MarleyEliseMurphyMurphy Math Teams - 7th Grade2013- 2014\$2,005\$2,005MarleyEliseMurphyNational Art Junior Honor Society2013- 2014	(Cinquemani	Taryn	Murphy	1	2013-	\$2,448.00	\$2,448.00
DominoEmmaMurphy MurphyCommunity Connections, co-sponsor2013 2014\$707.00\$707.00TrinidadMargaretMurphyEcology club2013 2014\$1,414.00\$1,414.00GeoninattiEmilianoMurphyForeign Language Club2013 2014\$1,414.00\$1,414.00GeoninattiEmilianoMurphyForeign Language Honor Society, co-sponsor2013 2014\$707.00\$707.00GoliniKerriMurphyForeign Language Honor Society, co-sponsor2014\$707.00\$707.00MandelLaurieMurphyGet-A-Voice Club2013 2014\$1,414.00\$1,414.00PolleraAnthonyMurphyGirls' Select Choir 20142013 2014\$1,414.00\$1,414.00PolleraAnthonyMurphyJHS Musical Production 20142014\$6,789.00\$6,789.00PolleraAnthonyMurphyJHS Musical Production 20142013 2014\$3,254.00\$3,254.00PolleraAnneMurphyMurphy Math Teams - 7th Crade2013 2014\$2,005\$2,005DucaAnneMurphyNational Art Junior Honor Society2013 2014\$1,414\$1,414MarleyEliseMurphyNational Art Junior Honor Society\$1,314\$1,414MarleyAndreaMurphyScience Bowl Club 2013\$2,005\$2,005MarleyAndreaMurphyScience Bowl Club 2013\$2,005\$2,005Marley	I	Ferraro	Virginia	Murphy	-	2013-	\$707.00	\$707.00
TrinidadMargaretMurphyEcology club2013- 2014\$1,414.00\$1,414.00GeoninattiEmilianoMurphyForeign Language Club2013- 2014\$1,414.00\$1,414.00GeoninattiEmilianoMurphyForeign Language Club2013- 2014\$707.00\$707.00GoliniKerriMurphyForeign Language Honor Society, co-sponsor2014\$707.00\$707.00MandelLaurieMurphyGet-A-Voice Club2013- 2014\$1,414.00\$1,414.00PolleraAnthonyMurphyGirls' Select Choir2013- 2014\$1,414.00\$1,414.00BoysenTheresaMurphyKickline-Patriettes2013- 2014\$1,414.00\$1,414.00PolleraAnthonyMurphyJHS Musical Production/Orchestra and 2014\$3,254.00\$3,254.00PolleraAnneMurphyJHS Musical Production/Orchestra and 2014\$1,414\$1,414PolleraAnneMurphyMurphy Math Teams - 8th 2013- Society\$2,005\$2,005MarleyEliseMurphyNational Junior Honor Society\$2013- 2014\$2,005\$2,005MandelLaurieMurphyNational Junior Honor Society\$2013- 2014\$2,005\$2,005MarleyEliseMurphyNational Junior Honor Society\$2013- 2014\$2,005\$2,005MarleySusanMurphyScience Olympiad Club- 2013-\$2,448\$2,448MarleySusan </td <td>Ι</td> <td>Domino</td> <td>Emma</td> <td>Murphy</td> <td>Community Connections,</td> <td>2013-</td> <td>\$707.00</td> <td>\$707.00</td>	Ι	Domino	Emma	Murphy	Community Connections,	2013-	\$707.00	\$707.00
GeoninattiEmilianoMurphyForeign Language Club2013- 2014\$1,414.00\$1,414.00GeoninattiEmilianoMurphyForeign Language Honor Society, co-sponsor 2014\$707.00\$707.00GoliniKerriMurphyForeign Language Honor Society, co-sponsor 2014\$707.00\$707.00MandelLaurieMurphyGet-A-Voice Club 20132013- 2014\$1,414.00\$1,414.00PolleraAnthonyMurphyGirls' Select Choir 20132013- 2014\$2,448.00\$2,448.00BoysenTheresaMurphyKickline-Patriettes 20132013- 2014\$1,414.00\$1,414.00PolleraAnthonyMurphyJHS Musical Production 2013- 2014\$2,448.00\$2,448.00PolleraAnthonyMurphyJHS Musical Production 2013- 2014\$3,254.00\$3,254.00PolleraAnthonyMurphyJHS Musical Production 2013- 2014\$2,005\$2,005DucaAnneMurphyMurphy Math Teams - 7th 20142013- 2014\$2,005\$2,005MarleyEliseMurphyMurphy Math Teams - 8th 2013- \$2,005\$2,005\$2,005\$2,005MandelLaurieMurphyNational Art Junior Honor 2013-\$1,414\$1,414MarleyEliseMurphyScience Olympiad Club- 20142013- 2014\$2,448\$2,005McManusPatrickMurphyScience Olympiad Club- 2013-\$1,414\$1,414Angermaier	1	Frinidad	Margaret	Murphy		2013-	\$1,414.00	\$1,414.00
GeoninattiEmilianoMurphyForeign Language Honor Society, co-sponsor2014 2013\$707.00\$707.00GoliniKerriMurphyForeign Language Honor Society, co-sponsor2013 2014\$707.00\$707.00MandelLaurieMurphyGet-A-Voice Club 20142013 2014\$1,414.00\$1,414.00PolleraAnthonyMurphyGirls' Select Choir 20142013 2014\$2,448.00\$2,448.00BoysenTheresaMurphyKickline-Patriettes 20132013 2014\$1,414.00\$1,414.00PolleraAnthonyMurphyJHS Musical Production Production/Orchestra and 2014\$013- 2014\$6,789.00\$6,789.00 2013- 2014PolleraAnneMurphyJHS Musical Production/Orchestra and 20142013- 2014\$2,005\$2,005DucaAnneMurphyMurphy Math Teams - 7th 2013- & 50 det Grade2013- 2014\$2,005\$2,005MarleyEliseMurphyNational Art Junior Honor Society2013- 2014\$1,414\$1,414MandelLaurieMurphyNational Art Junior Honor Society2013- 2014\$2,005\$2,005McGuireSusanMurphyScience Olympiad Club- 2014\$1,414\$1,414AngermaierDerekMurphyScience Olympiad Club- 2013-\$1,414\$1,414PahujaPamMurphyScience Olympiad Club- 2014\$1,414\$1,414	(Geoninatti	Emiliano	Murphy	Foreign Language Club		\$1,414.00	\$1,414.00
GoliniKerriMurphy MurphySociety, co-sponsor Foreign Language Honor Society, co-sponsor2013- 2014\$707.00\$707.00MandelLaurieMurphyGet-A-Voice Club2013- 2014\$1,414.00\$1,414.00PolleraAnthonyMurphyGirls' Select Choir2013- 2014\$2,448.00\$2,448.00BoysenTheresaMurphyKickline-Patriettes2013- 2014\$1,414.00\$1,414.00PolleraAnthonyMurphyJHS Musical Production2013- 2014\$6,789.00\$6,789.00PolleraAnthonyMurphyJHS Musical Production2013- 2014\$3,254.00\$3,254.00PolleraAnthonyMurphyJHS Musical Production/Orchestra and 20142014\$3,254.00\$3,254.00DucaAnneMurphyMurphy Math Teams - 7th Society2013- 2014\$2,005\$2,005MarleyEliseMurphyNational Art Junior Honor Society2013- 2014\$1,414\$1,414FarleyAndreaMurphyScience Olympiad Club- 20142013- 2014\$2,005\$2,005McGuireSusanMurphyScience Olympiad Club- 20142013- 2014\$2,448\$2,448AngermaierDerekMurphyScience Olympiad Club- 20142013- 2014\$1,414\$1,414PahujaPamMurphyScience Olympiad Club- 2013-\$1,414\$1,414PahujaPamMurphyScience Olympiad Club- 2013-\$1,414	(Geoninatti	Emiliano	Murphy			\$707.00	\$707.00
MandelLaurieMurphySociety, co-sponsor2014MandelLaurieMurphyGet-A-Voice Club2013- 2014\$1,414.00\$1,414.00PolleraAnthonyMurphyGirls' Select Choir2013- 2014\$2,448.00\$2,448.00BoysenTheresaMurphyKickline-Patriettes2013- 2014\$1,414.00\$1,414.00PolleraAnthonyMurphyJHS Musical Production2013- 2014\$6,789.00\$6,789.00PolleraAnthonyMurphyJHS Musical Production2013- 2014\$3,254.00\$3,254.00PolleraAnneMurphyJHS Musical Production/Orchestra and Vocals2014\$3,254.00\$2,005DucaAnneMurphyMurphy Math Teams - 7th Grade2013- 2014\$2,005\$2,005MarleyEliseMurphyMurphy Math Teams - 8th Society2013- 2014\$2,005\$2,005MandelLaurieMurphyNational Art Junior Honor Society2013- 2014\$2,005\$2,005McManusPatrickMurphyScience Olympiad Club ead2013- 2014\$2,448\$2,448McGuireSusanMurphyScience Olympiad Club, 2013- 2014\$1,414\$1,414PahujaPamMurphyScience Olympiad Club, 2013- 2014\$1,414\$1,414					Society, co-sponsor	2014		
PolleraAnthonyMurphyGirls' Select Choir 2014 2013 - 2014 $$2,448.00$ 2014 $$2,448.00$ 2014 BoysenTheresaMurphyKickline-Patriettes 2013 - 2014 $$1,414.00$ 2014 $$1,414.00$ 2014 PolleraAnthonyMurphyJHS Musical Production 2013 - 2014 $$6,789.00$ 2014 $$6,789.00$ 2014 PolleraAnthonyMurphyJHS Musical Production/Orchestra and $Vocals$ 2014 $$3,254.00$ $$3,254.00$ $$3,254.00$ $$2,005$ DucaAnneMurphyMurphy Math Teams - 7th Grade 2013 - 2014 $$2,005$ $$2,005$ $$2,005$ MarleyEliseMurphyMurphy Math Teams - 8th 2014 2013 - $$2,005$ $$2,005$ $$2,005$ MandelLaurieMurphyNational Art Junior Honor Society 2013 - 2014 $$2,005$ $$2,005$ McManusPatrickMurphyScience Olympiad Club $co-sponsor$ $$2014$ $$1,414$ $$1,414$ PahujaPamMurphyScience Olympiad Club, 2013 - $$2,448$ $$2,448$					Society, co-sponsor	2014		
BoysenTheresaMurphyKickline-Patriettes2013- 2014\$1,414.00\$1,414.00PolleraAnthonyMurphyJHS Musical Production2013- 2014\$6,789.00\$6,789.00PolleraAnthonyMurphyJHS Musical Production2013- 2014\$3,254.00\$3,254.00PolleraAnneMurphyJHS Musical Production/Orchestra and Crade2014- 2014\$3,254.00\$3,254.00DucaAnneMurphyMurphy Math Teams - 7th Grade2013- 2014\$2,005\$2,005MarleyEliseMurphyMurphy Math Teams - 8th & 9th Grade2013- 2014\$2,005\$2,005MandelLaurieMurphyNational Art Junior Honor Society2013- 2014\$2,005\$2,005McManusPatrickMurphyScience Bowl Club lead2013- 2014\$2,005\$2,005McGuireSusanMurphyScience Olympiad Club- 2013- Science Olympiad Club, 2013-\$1,414\$1,414AngermaierDerekMurphyScience Olympiad Club, 2013- Science Olympiad Club, 2013- 2014\$1,414\$1,414PahujaPamMurphyScience Olympiad Club, 2013- Science Olympiad Club, 2013- 2014\$1,414\$1,414						2014		
PolleraAnthonyMurphyJHS Musical Production 2013 - 2014 $$6,789.00$ $$6,789.00$ PolleraAnthonyMurphyJHS Musical Production/Orchestra and Vocals 2013 - 2014 $$3,254.00$ $$3,254.00$ DucaAnneMurphyMurphy Math Teams - 7th Grade 2013 - 2014 $$2,005$ $$2,005$ MarleyEliseMurphyMurphy Math Teams - 8th 2014 2013 - 2014 $$2,005$ $$2,005$ MandelLaurieMurphyNational Art Junior Honor Society 2014 $$1,414$ $$1,414$ FarleyAndreaMurphyNational Junior Honor Society 2013 - 2014 $$2,005$ $$2,005$ McManusPatrickMurphyScience Bowl Club lead 2013 - 2014 $$2,005$ $$2,005$ McGuireSusanMurphyScience Olympiad Club- 2013 - $$1,414$ $$1,414$ AngermaierDerekMurphyScience Olympiad Club, 2013 - $$1,414$ $$1,414$ PahujaPamMurphyScience Olympiad Club, 2013 - $$1,414$ $$1,414$						2014		
PolleraAnthonyMurphyJHS Musical Production/Orchestra and Vocals2014\$3,254.00\$3,254.00DucaAnneMurphyMurphy Math Teams - 7th Grade2013- 2014\$2,005\$2,005MarleyEliseMurphyMurphy Math Teams - 8th 20142013- 2014\$2,005\$2,005MandelLaurieMurphyMurphy Math Teams - 8th 20142013- 2014\$2,005\$2,005MandelLaurieMurphyNational Art Junior Honor Society2013- 2014\$1,414\$1,414FarleyAndreaMurphyNational Junior Honor Society2013- 2014\$2,005\$2,005McManusPatrickMurphyScience Bowl Club lead2013- 2014\$2,005\$2,005McGuireSusanMurphyScience Olympiad Club- 2013-\$1,414\$1,414AngermaierDerekMurphyScience Olympiad Club, 2013-\$1,414\$1,414PahujaPamMurphyScience Olympiad Club, 2013-\$1,414\$1,414						2014		
Production/Orchestra and Vocals2014DucaAnneMurphyMurphy Math Teams - 7th Grade2013- 2014\$2,005\$2,005MarleyEliseMurphyMurphy Math Teams - 8th 20142013- 2014\$2,005\$2,005MandelLaurieMurphyNational Art Junior Honor Society2013- 2014\$1,414\$1,414FarleyAndreaMurphyNational Junior Honor Society2013- 2014\$2,005\$2,005McManusPatrickMurphyScience Bowl Club lead2013- 2014\$2,005\$2,005McGuireSusanMurphyScience Olympiad Club- co-sponsor2013- 2014\$1,414\$1,414PahujaPamMurphyScience Olympiad Club, co-sponsor2013- 2014\$1,414\$1,414			•			2014		
Grade2014MarleyEliseMurphyMurphy Math Teams - 8th & 9th Grade2013- 2014\$2,005\$2,005MandelLaurieMurphyNational Art Junior Honor Society2013- 2014\$1,414\$1,414FarleyAndreaMurphyNational Junior Honor Society2013- 2014\$2,005\$2,005McManusPatrickMurphyScience Bowl Club2013- 2014\$2,005\$2,005McGuireSusanMurphyScience Olympiad Club- lead2013- 2014\$2,448\$2,448AngermaierDerekMurphyScience Olympiad Club, co-sponsor2013- 2014\$1,414\$1,414PahujaPamMurphyScience Olympiad Club, 2013- 2014\$1,414\$1,414	ł	Pollera	Anthony	Murphy	Production/Orchestra and		\$3,254.00	\$3,254.00
MarleyEliseMurphyMurphy Math Teams - 8th & 9th Grade2013- 2014\$2,005\$2,005MandelLaurieMurphyNational Art Junior Honor Society2013- 2014\$1,414\$1,414FarleyAndreaMurphyNational Junior Honor Society2013- 2014\$2,005\$2,005McManusPatrickMurphyScience Bowl Club lead2013- 2014\$2,005\$2,005McGuireSusanMurphyScience Olympiad Club- lead2013- 2014\$2,448\$2,448AngermaierDerekMurphyScience Olympiad Club, co-sponsor2013- 2014\$1,414\$1,414PahujaPamMurphyScience Olympiad Club, co-sponsor2013- 2014\$1,414\$1,414	Ι	Duca	Anne	Murphy			\$2,005	\$2,005
MandelLaurieMurphyNational Art Junior Honor2013- 2014\$1,414\$1,414FarleyAndreaMurphyNational Junior Honor Society2013- 2014\$2,005\$2,005McManusPatrickMurphyScience Bowl Club Lead2013- 2014\$2,005\$2,005McGuireSusanMurphyScience Olympiad Club- Lead2013- 2014\$2,448\$2,448AngermaierDerekMurphyScience Olympiad Club, co-sponsor2013- 2014\$1,414\$1,414PahujaPamMurphyScience Olympiad Club, co-sponsor2013- 2014\$1,414\$1,414	N	Marley	Elise	Murphy			\$2,005	\$2,005
FarleyAndreaMurphyNational Junior Honor Society2013- 2014\$2,005\$2,005McManusPatrickMurphyScience Bowl Club2013- 2014\$2,005\$2,005McGuireSusanMurphyScience Olympiad Club- lead2013- 2014\$2,448\$2,448AngermaierDerekMurphyScience Olympiad Club, co-sponsor2013- 2014\$1,414\$1,414PahujaPamMurphyScience Olympiad Club, co-sponsor2013- 2014\$1,414\$1,414		Mandel	Laurie	Murphy	National Art Junior Honor	2013-	\$1,414	\$1,414
McManusPatrickMurphyScience Bowl Club2013- 2014\$2,005\$2,005McGuireSusanMurphyScience Olympiad Club- lead2013- 2014\$2,448\$2,448AngermaierDerekMurphyScience Olympiad Club, co-sponsor2013- 2014\$1,414\$1,414PahujaPamMurphyScience Olympiad Club, co-sponsor2013- 2014\$1,414\$1,414	N	vianuei				2013-	\$2,005	\$2,005
McGuireSusanMurphyScience Olympiad Club- lead2013- 2014\$2,448\$2,448AngermaierDerekMurphyScience Olympiad Club, co-sponsor2013- 2014\$1,414\$1,414PahujaPamMurphyScience Olympiad Club, co-sponsor2013- 2014\$1,414\$1,414PahujaPamMurphyScience Olympiad Club, co-sponsor2013- 2014\$1,414\$1,414			Andrea	Murphy	Society	2014		
AngermaierDerekMurphyScience Olympiad Club, co-sponsor2013- 2014\$1,414\$1,414PahujaPamMurphyScience Olympiad Club, co-sponsor2013- 2013- 2014\$1,414\$1,414	ł	Farley			2	2013-	\$2,005	\$2,005
Pahuja Pam Murphy Science Olympiad Club, 2013- \$1,414 \$1,414 co-sponsor 2014	H N	Farley McManus	Patrick	Murphy	Science Bowl Club Science Olympiad Club-	2013- 2014 2013-		
	H N N	Farley McManus McGuire	Patrick Susan	Murphy Murphy	Science Bowl Club Science Olympiad Club- lead Science Olympiad Club,	2013- 2014 2013- 2014 2013-	\$2,448	\$2,448
	H N N	Farley McManus McGuire Angermaier	Patrick Susan Derek	Murphy Murphy Murphy	Science Bowl Club Science Olympiad Club- lead Science Olympiad Club, co-sponsor Science Olympiad Club,	2013- 2014 2013- 2014 2013- 2014 2013-	\$2,448 \$1,414	\$2,448 \$1,414
2014	H N P F	Farley McManus McGuire Angermaier Pahuja	Patrick Susan Derek Pam	Murphy Murphy Murphy Murphy	Science Bowl Club Science Olympiad Club- lead Science Olympiad Club, co-sponsor Science Olympiad Club,	2013- 2014 2013- 2014 2013- 2014 2013- 2014 2013-	\$2,448 \$1,414 \$1,414	\$2,448 \$1,414 \$1,414

Campbell	Peter	Murphy	Sound and Lighting Club,	2013-	\$1,414	\$1,414
			co-sponsor	2014		
Pollera	Anthony	Murphy	Sound and Lighting Club,	2013-	\$1,414	\$1,414
			co-sponsor	2014		
Pollera	Anthony	Murphy	Special Events Performing	2013-	\$1,414.00	\$1,414.00
	•		Groups	2014		
Black	John	Murphy	Student Council, co-	2013-	\$1,955	\$1,955
			sponsor	2014		
Golini	Kerri	Murphy	Student Council, co-	2013-	\$1,995	\$1,995
			sponsor	2014		
Garcia	Edwin	Murphy	Ýearbook Club, co-	2013-	\$1,955	\$1,955
			sponsor	2014		
Gilmore	Beverly	Murphy	Yearbook Club, co-	2013-	\$1,955	\$1,955
			sponsor	2014		
Nilsson	Marylou	Murphy	Newspaper, All in a	2013-	\$461.67/	\$923.34
	-		Murphy Minute, 2 issues	2014	issue	
Gustavsen	Laura	WMHS	Theater Orchestra Musical	2013-	\$1,000.00	\$1,000.00
			Director (Shared)	2014		

** This is shared with Linda Contino. Ms. Contino was approved for her portion on the 8/12 BOE.

APPOINTMENTS OF ANNUAL EXTRA ASSIGNMENTS

Last Name	<u>First</u>	Building	Assignment	Effective	Rate	Not to
Lead Teacher	<u>Name</u>					Exceed

DomenechDeborahWMHSFlagline Advisor2013-2014\$2,222.00\$2,222.00*** Genevieve Donin was previously board approved on 9/11 for this position, but she is no longer available. Ms.Domenech will be replacing her.

APPOINTMENTS OF HOURLY EXTRA ASSIGNMENTS

Last Name	<u>First</u> <u>Name</u>	<u>Building</u>	Assignment	Effective	<u>Rate</u>	<u>Hours</u>	<u>Not to</u> Exceed
Chaperoning							
Weiler	Christy	Nassakeag	Chaperone - All County Rehearsal	11/13/2013	\$ 40.48/hr	6	\$242.88
Hayes	Dan	Gelinas	Chaperone - All County Rehearsal	11/21/2013	\$ 40.48/hr	8	\$404.80
Gelfer	Phil	WMHS	Chaperone - All County Rehearsal	11/22/2013	\$ 40.48/hr	6	\$242.88
Arcuri	Maria	Setauket	Chaperone - Field Trips	2013-2014	\$ 19.40/hr	4	\$77.60
Booker	Karen	Setauket	Chaperone - Field Trips	2013-2014	\$ 19.40/hr	4	\$77.60
Drosselmeier	Theresa	Setauket	Chaperone - Field Trips	2013-2014	\$ 19.40/hr	4	\$77.60
Faughnan	Bridget	Setauket	Chaperone - Field Trips	2013-2014	\$ 19.40/hr	4	\$77.60
Gluck	Christine	Setauket	Chaperone - Field Trips	2013-2014	\$ 19.40/hr	4	\$77.60
Gulli	Cristina	Setauket	Chaperone - Field Trips	2013-2014	\$ 19.40/hr	4	\$77.60
Johnson	Suzanne	Setauket	Chaperone - Field Trips	2013-2014	\$ 19.40/hr	4	\$77.60
Levy	Danielle	Setauket	Chaperone - Field Trips	2013-2014	\$ 19.40/hr	4	\$77.60
McHugh	Karen	Setauket	Chaperone - Field Trips	2013-2014	\$ 19.40/hr	4	\$77.60
Olson	Ruth	Setauket	Chaperone - Field Trips	2013-2014	\$ 19.40/hr	4	\$77.60
Panuccio	Debbie	Setauket	Chaperone - Field Trips	2013-2014	\$ 19.40/hr	4	\$77.60
Reduto	Daniela	Setauket	Chaperone - Field Trips	2013-2014	\$ 19.40/hr	4	\$77.60
Russolillo	Grasiela	Setauket	Chaperone - Field Trips	2013-2014	\$ 19.40/hr	4	\$77.60
Sarro	Beverly	Setauket	Chaperone - Field Trips	2013-2014	\$ 19.40/hr	4	\$77.60
Schnebel	Lorraine	Setauket	Chaperone - Field Trips	2013-2014	\$ 19.40/hr	4	\$77.60
Smith	Anne	Setauket	Chaperone - Field Trips	2013-2014	\$ 19.40/hr	4	\$77.60
Spiazzi	Eufrasia	Setauket	Chaperone - Field Trips	2013-2014	\$ 19.40/hr	4	\$77.60
Swain	Christine	Setauket	Chaperone - Field Trips	2013-2014	\$ 19.40/hr	4	\$77.60
Toop	Diana	Setauket	Chaperone - Field Trips	2013-2014	\$ 19.40/hr	4	\$77.60
Verbesey	Deborah	Setauket	Chaperone - Field Trips	2013-2014	\$ 19.40/hr	4	\$77.60

Wilkom	Michele	Setauket	Chaperone -	2013-2014	\$ 19.40/hr	4	\$77.60
Arcuri	Maria	Setauket	Field Trips After Hours 1:1	2013-2014	\$ 19.40/hr	4	\$77.60
Booker	Karen	Setauket	Supervision After Hours 1:1	2013-2014	\$ 19.40/hr	4	\$77.60
Drosselmeier	Theresa	Setauket	Supervision After Hours 1:1	2013-2014	\$ 19.40/hr	4	\$77.60
Faughnan	Bridget	Setauket	Supervision After Hours 1:1	2013-2014	\$ 19.40/hr	4	\$77.60
Gluck	Christine	Setauket	Supervision After Hours 1:1	2013-2014	\$ 19.40/hr	4	\$77.60
Gulli	Cristina	Setauket	Supervision After Hours 1:1	2013-2014	\$ 19.40/hr	4	\$77.60
Johnson	Suzanne	Setauket	Supervision After Hours 1:1	2013-2014	\$ 19.40/hr	4	\$77.60
Levy	Danielle	Setauket	Supervision After Hours 1:1	2013-2014	\$ 19.40/hr	4	\$77.60
McHugh	Karen	Setauket	Supervision After Hours 1:1	2013-2014	\$ 19.40/hr	4	\$77.60
Olson	Ruth	Setauket	Supervision After Hours 1:1	2013-2014	\$ 19.40/hr	4	\$77.60
Panuccio	Debbie	Setauket	Supervision After Hours 1:1	2013-2014	\$ 19.40/hr	4	\$77.60
Reduto	Daniela	Setauket	Supervision After Hours 1:1	2013-2014	\$ 19.40/hr	4	\$77.60
Russolillo	Grasiela	Setauket	Supervision After Hours 1:1	2013-2014	\$ 19.40/hr	4	
			Supervision				\$77.60
Sarro	Beverly	Setauket	After Hours 1:1 Supervision	2013-2014	\$ 19.40/hr	4	\$77.60
Schnebel	Lorraine	Setauket	After Hours 1:1 Supervision	2013-2014	\$ 19.40/hr	4	\$77.60
Smith	Anne	Setauket	After Hours 1:1 Supervision	2013-2014	\$ 19.40/hr	4	\$77.60
Spiazzi	Eufrasia	Setauket	After Hours 1:1 Supervision	2013-2014	\$ 19.40/hr	4	\$77.60
Swain	Christine	Setauket	After Hours 1:1 Supervision	2013-2014	\$ 19.40/hr	4	\$77.60
Тоор	Diana	Setauket	After Hours 1:1 Supervision	2013-2014	\$ 19.40/hr	4	\$77.60
Verbesey	Deborah	Setauket	After Hours 1:1	2013-2014	\$ 19.40/hr	4	\$77.60
Wilkom	Michele	Setauket	Supervision After Hours 1:1	2013-2014	\$ 19.40/hr	4	\$77.60
Arcuri	Maria	Setauket	Supervision Concert	2013-2014	\$ 40.48/hr	4	\$161.92
Booker	Karen	Setauket	Chaperoning Concert	2013-2014	\$ 40.48/hr	4	\$161.92
Drosselmeier	Theresa	Setauket	Chaperoning Concert	2013-2014	\$ 40.48/hr	4	\$161.92
Faughnan	Bridget	Setauket	Chaperoning Concert	2013-2014	\$ 40.48/hr	4	\$161.92
Gluck	Christine	Setauket	Chaperoning Concert	2013-2014	\$ 40.48/hr	4	\$161.92
Gulli	Cristina	Setauket	Chaperoning Concert	2013-2014	\$ 40.48/hr	4	\$161.92
Johnson	Suzanne	Setauket	Chaperoning Concert	2013-2014	\$ 40.48/hr	4	\$161.92
Levy	Danielle	Setauket	Chaperoning Concert	2013-2014	\$ 40.48/hr	4	\$161.92
			Chaperoning				
McHugh	Karen	Setauket	Concert Chaperoning	2013-2014	\$ 40.48/hr	4	\$161.92
Olson	Ruth	Setauket	Concert Chaperoning	2013-2014	\$ 40.48/hr	4	\$161.92
Panuccio	Debbie	Setauket	Concert Chaperoning	2013-2014	\$ 40.48/hr	4	\$161.92
Reduto	Daniela	Setauket	Concert Chaperoning	2013-2014	\$ 40.48/hr	4	\$161.92
Russolillo	Grasiela	Setauket	Concert Chaperoning	2013-2014	\$ 40.48/hr	4	\$161.92
Sarro	Beverly	Setauket	Concert Chaperoning	2013-2014	\$ 40.48/hr	4	\$161.92
Schnebel	Lorraine	Setauket	Concert Chaperoning	2013-2014	\$ 40.48/hr	4	\$161.92
Smith	Anne	Setauket	Concert	2013-2014	\$ 40.48/hr	4	\$161.92
Spiazzi	Eufrasia	Setauket	Chaperoning Concert	2013-2014	\$ 40.48/hr	4	\$161.92
Swain	Christine	Setauket	Chaperoning Concert	2013-2014	\$ 40.48/hr	4	\$161.92
Тоор	Diana	Setauket	Chaperoning Concert	2013-2014	\$ 40.48/hr	4	\$161.92
Verbesey	Deborah	Setauket	Chaperoning Concert	2013-2014	\$ 40.48/hr	4	\$161.92
Wilkom	Michele	Setauket	Chaperoning Concert	2013-2014	\$ 40.48/hr	4	\$161.92
Arcuri	Maria	Setauket	Chaperoning Chaperoning	2013-2014	\$ 40.48/hr	4	\$161.92
			After School Events				
Booker	Karen	Setauket	Chaperoning After School	2013-2014	\$ 40.48/hr	4	\$161.92
			Events				

Drosselmeier	Theresa	Setauket	Chaperoning After School	2013-2014	\$ 40.48/hr	4	\$161.92
Faughnan	Bridget	Setauket	Events Chaperoning After School	2013-2014	\$ 40.48/hr	4	\$161.92
Gluck	Christine	Setauket	Events Chaperoning After School	2013-2014	\$ 40.48/hr	4	\$161.92
Gulli	Cristina	Setauket	Events Chaperoning After School	2013-2014	\$ 40.48/hr	4	\$161.92
Johnson	Suzanne	Setauket	Events Chaperoning After School	2013-2014	\$ 40.48/hr	4	\$161.92
Levy	Danielle	Setauket	Events Chaperoning After School	2013-2014	\$ 40.48/hr	4	\$161.92
McHugh	Karen	Setauket	Events Chaperoning After School	2013-2014	\$ 40.48/hr	4	\$161.92
Olson	Ruth	Setauket	Events Chaperoning After School	2013-2014	\$ 40.48/hr	4	\$161.92
Panuccio	Debbie	Setauket	Events Chaperoning After School	2013-2014	\$ 40.48/hr	4	\$161.92
Reduto	Daniela	Setauket	Events Chaperoning After School	2013-2014	\$ 40.48/hr	4	\$161.92
Russolillo	Grasiela	Setauket	Events Chaperoning After School	2013-2014	\$ 40.48/hr	4	\$161.92
Sarro	Beverly	Setauket	Events Chaperoning After School	2013-2014	\$ 40.48/hr	4	\$161.92
Schnebel	Lorraine	Setauket	Events Chaperoning After School	2013-2014	\$ 40.48/hr	4	\$161.92
Smith	Anne	Setauket	Events Chaperoning After School Events	2013-2014	\$ 40.48/hr	4	\$161.92
Spiazzi	Eufrasia	Setauket	Chaperoning After School Events	2013-2014	\$ 40.48/hr	4	\$161.92
Swain	Christine	Setauket	Chaperoning After School Events	2013-2014	\$ 40.48/hr	4	\$161.92
Тоор	Diana	Setauket	Chaperoning After School Events	2013-2014	\$ 40.48/hr	4	\$161.92
Verbesey	Deborah	Setauket	Chaperoning After School Events	2013-2014	\$ 40.48/hr	4	\$161.92
Wilkom	Michele	Setauket	Chaperoning After School Events	2013-2014	\$ 40.48/hr	4	\$161.92
Co-Curricular C	Clubs		Lvents				
Kostis	Dean	Gelinas	Sound	2013-2014	\$ 40.48/hr	30	\$1,214.40
Gerber	Monica	Gelinas	Science	2013-2014	\$ 40.48/hr	15	\$607.20
	D	C I'	Awareness	2012 2014	¢ 40 40 4		
Carlson	Deana Kevin	Gelinas Gelinas	Greenhouse Club Greenhouse Club	2013-2014 2013-2014	\$ 40.48/hr \$ 40.48/hr		
Stiegelmeier **Total stipend				2013-2014	\$ 40.46/III		
exceed \$ 810.00		cennouse CO-7	Advisors not to				
Nilsson	Marylou	Murphy	Academic Awards/Concert Programs Advisor	10/2013 - 6/2014	\$ 40.48/hr	up to 20 hrs	\$809.60
Pickford	Brian	Murphy	Moving Up Day Coordinator	10/2013 - 6/2014	\$ 40.48/hr	up to 20 hrs	\$809.60
Angermaier	Derek	Murphy	Set Design Club, Assistant	10/2013 - 6/2014	\$ 40.48/hr	up to 20 hrs	\$809.60
Fernandes	Charlie	Murphy	Webmaster	10/2013 - 6/2014	\$ 40.48/hr	up to 50 hrs	\$2,024.00
Extra Compens	ation						
Aweh	Michelle	WMHS	Additional 2 hours - Project Leader, German Independent Study Blended Levels 3 and C Curriculum Writing	2013-2014	\$ 45.56/hr	2	\$92.12

On motion by Mrs. Gische, seconded by Mr. Connors, and carried by a 4-0-0 vote, the Board approved the resolution as presented.

Non-Instructional Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Three Village Board of Education approve the non-instructional personnel items as described in the schedules listed below:

RESIGNATIONS NON-INSTRUCTIONAL STAFF

<u>Name</u>	School/Assignment	Effective Date	Length of Service
Demanuel, Kim	Gelinas Junior High School /	9/11/13	3 mo.
	Special Education Aide		
Kernisant, Nancy	Setauket Elementary School / Monitor	9/09/13	12 yrs.
Schliessman, Lisa	Setauket Elementary School / Special Education Aide	9/06/13	5 yrs. 7 mo.
Warren-Barbieri, Kathy	Arrowhead ES SACC Program / Special Education Aide	9/01/13	8 yrs. 8 mo.
	APPOINTMENT TO		

NON-INSTRUCTIONAL POSITIONS

Monitor/Special Education Aide

Camenzuli, Susan

Special Education Aide (6.25 hours/day) Gelinas Junior High School Replacing: Kim Demanuel (resignation) Related to current employee: No Salary: \$13.59/hourly (Step 1/ Level 12) Annual Stipend: \$700.00 prorated Effective: September 26, 2013

Fingerprinting clearance has been received and is on file.

School-Aged Child Care (SACC)

Pinzon, Denisse

Child Care Assistant (max 25 hrs/week) Nassakeag Elementary School New Position Related to current employee: No Salary - \$12.50 hourly (Step 1/Level 1) Effective – September 16, 2013

Ms. Pinzon was emergency appointed to this position effective 9/16/13 due to severe staff shortage in the SACC program. Fingerprinting clearance has been received and is on file.

CHANGES OF STATUS NON-INSTRUCTIONAL STAFF

Custodial

Hargreaves, Kenneth	From: Custodial Worker I (Step 12/Level 1) Arrowhead Elementary School Annual Salary: \$58,724				
	To: Custodial Worker II (Step 12/Level 2) Mount Elementary School Replacing: Joseph Esposito Annual Salary: \$59,761 Effective: September 16, 2013				
Moretti, Robert	From: Custodial Worker I (Step 9/Level 1) Minnesauke Elementary School Annual Salary: \$54,312 To: Groundskeeper I (Step 10/Level 9) General Maintenance Replacing: Frank Moscatiello Annual Salary: \$56,783 Effective: September 16, 2013				

Monitors/Special Education Aides	
Demanuel, Kim	From: Special Education Aide (Step 1/Level 7) Gelinas Junior High School To: Special Education Aide (Step 1/Level 12) Gelinas Junior High School Effective: September 9, 2013
Patterson, Debra	From: Special Education Aide (Step 9/Level 13) Murphy Junior High School To: Special Education Aide (Step 9/Level 12) Murphy Junior High School Effective: September 9, 2013
Pemberton, Nancy	From: Special Education Aide (Step 9/Level 12) Murphy Junior High School To: Special Education Aide (Step 9/Level 13) Murphy Junior High School Effective: September 9, 2013
Sciacca, Barbara	From: Special Education Aide (Step 8/Level 13) Murphy Junior High School To: Special Education Aide (Step 8/Level 12) Murphy Junior High School Effective: September 9, 2013
Woodland, Carol	From: Special Education Aide (Step 5/Level 9) Gelinas Junior High School To: Special Education Aide (Step 5/Level 12) Gelinas Junior High School Effective: March 13, 2013
Woodland, Carol	From: Special Education Aide (Step 6/Level 12) Gelinas Junior High School To: Special Education Aide (Step 6/Level 9) Gelinas Junior High School Effective: September 9, 2013
APPC	DINTMENT TO

NON-INSTRUCTIONAL SUBSTITUTE POSITIONS

Monitors/Special Education Aides						
Garcia, Martha	Salary-\$11.42/hr. Effective-9/26/13					
Fingerprinting clearance has been received and is on file.						
Lawlor, Diana	Salary-\$11.42/hr. Effective-9/26/13					
Fingerprinting clearance has been received and is on file.						
Schneider, Jennifer	Salary-\$11.42/hr.					

Salary-\$11.42/hr. Effective-9/26/13

Fingerprinting clearance has been received and is on file.

Williams, Denise

Salary-\$11.42/hr.
Effective-9/26/13

Fingerprinting clearance has been received and is on file.

APPOINTMENTS OF HOURLY EXTRA ASSIGNMENTS

Last Name	First	Building	Assignment	Effective	Rate	Hours	Not to
Morabito	Name	WMHS	-	2013-2014		4.75	Exceed
Morabito	Bridget	w MH2	Required attendance at Sci Dept Meetings on Superintendent's Conf. Days	2013-2014	Reg. hourly rate	4.75	
Cambria	Stacy	Setauket	Field Trips	2013-14	Reg Rate of Pay	4.00	4.0 hrs per event
Cardillo	Lynn	Setauket	Field Trips	2013-14	Reg Rate of	4.00	4.0 hrs per
Cohen	Rosa	Setauket	Field Trips	2013-14	Pay Reg Rate of	4.00	event 4.0 hrs per
Clyne	Theresa	Setauket	Field Trips	2013-14	Pay Reg Rate of	4.00	event 4.0 hrs per
Ehlrich	Pamela	Setauket	Field Trips	2013-14	Pay Reg Rate of	4.00	event 4.0 hrs per
Feliciano	Luz	Setauket	Field Trips	2013-14	Pay Reg Rate of	4.00	event 4.0 hrs per
Fortier	Melanie	Setauket	Field Trips	2013-14	Pay Reg Rate of	4.00	event 4.0 hrs per
Haselton	Patricia	Setauket	Field Trips	2013-14	Pay Reg Rate of	4.00	event 4.0 hrs per
Homan	Debra	Setauket	Field Trips	2013-14	Pay Reg Rate of	4.00	event 4.0 hrs per
Kelly	Kelly	Setauket	Field Trips	2013-14	Pay Reg Rate of	4.00	event 4.0 hrs per
Kollmeier	Peggy	Setauket	Field Trips	2013-14	Pay Reg Rate of	4.00	event 4.0 hrs per
Manna	Donna	Setauket	Field Trips	2013-14	Pay Reg Rate of	4.00	event 4.0 hrs per
McAlister	Cindi	Setauket	Field Trips	2013-14	Pay Reg Rate of	4.00	event 4.0 hrs per
Messina	Christine	Setauket	Field Trips	2013-14	Pay Reg Rate of	4.00	event 4.0 hrs per
Messina	Lorna	Setauket	Field Trips	2013-14	Pay Reg Rate of	4.00	event 4.0 hrs per
Mongiori	Liz	Setauket	Field Trips	2013-14	Pay Reg Rate of	4.00	event 4.0 hrs per
Mortilla	Kelly	Setauket	Field Trips	2013-14	Pay Reg Rate of	4.00	event 4.0 hrs per
Mundy	Christine	Setauket	Field Trips	2013-14	Pay Reg Rate of	4.00	event 4.0 hrs per
Post	Mitsuko	Setauket	Field Trips	2013-14	Pay Reg Rate of Pay	4.00	event 4.0 hrs per
Pryor	Carolyn	Setauket	Field Trips	2013-14	Pay Reg Rate of Pay	4.00	event 4.0 hrs per event
Scrimo	Jessica	Setauket	Field Trips	2013-14	Reg Rate of Pay	4.00	4.0 hrs per event
Steck	Marjorie	Setauket	Field Trips	2013-14	Reg Rate of	4.00	4.0 hrs per
Spinnato	Maria	Setauket	Field Trips	2013-14	Pay Reg Rate of Pay	4.00	event 4.0 hrs per
Timpanaro	Miriam	Setauket	Field Trips	2013-14	Pay Reg Rate of Pay	4.00	event 4.0 hrs per event
Turner	Delvis	Setauket	Field Trips	2013-14	Pay Reg Rate of Pay	4.00	4.0 hrs per event
Xia	Duling	Setauket	Field Trips	2013-14	Reg Rate of Pay	4.00	4.0 hrs per event
Zerbo	Nicole	Setauket	Field Trips	2013-14	Reg Rate of Pay	4.00	4.0 hrs per event

Cambria	Stacy	Setauket	1:1 student supervision for before school co-	2013-14	Reg Rate of Pay	4.00	4.0 hrs per event
Cardillo	Lynn	Setauket	curricular activities 1:1 student supervision for before school co-	2013-14	Reg Rate of Pay	4.00	4.0 hrs per event
Cohen	Rosa	Setauket	curricular activities 1:1 student supervision for before school co-	2013-14	Reg Rate of Pay	4.00	4.0 hrs per event
Clyne	Theresa	Setauket	curricular activities 1:1 student supervision for before school co-	2013-14	Reg Rate of Pay	4.00	4.0 hrs per event
Ehlrich	Pamela	Setauket	curricular activities 1:1 student supervision for before school co-	2013-14	Reg Rate of Pay	4.00	4.0 hrs per event
Feliciano	Luz	Setauket	curricular activities 1:1 student supervision for before school co-	2013-14	Reg Rate of Pay	4.00	4.0 hrs per event
Fortier	Melanie	Setauket	curricular activities 1:1 student supervision for before school co-	2013-14	Reg Rate of Pay	4.00	4.0 hrs per event
Haselton	Patricia	Setauket	curricular activities 1:1 student supervision for before school co-	2013-14	Reg Rate of Pay	4.00	4.0 hrs per event
Homan	Debra	Setauket	curricular activities 1:1 student supervision for before school co-	2013-14	Reg Rate of Pay	4.00	4.0 hrs per event
Kelly	Kelly	Setauket	curricular activities 1:1 student supervision for before school co-	2013-14	Reg Rate of Pay	4.00	4.0 hrs per event
Kollmeier	Peggy	Setauket	curricular activities 1:1 student supervision for before school co-	2013-14	Reg Rate of	4.00	4.0 hrs per
Manna	Donna	Setauket	curricular activities 1:1 student supervision for	2013-14	Pay Reg Rate of	4.00	event 4.0 hrs per
McAlister	Cindi	Setauket	before school co- curricular activities 1:1 student supervision for	2013-14	Pay Reg Rate of	4.00	event 4.0 hrs per
Messina	Christine	Setauket	before school co- curricular activities 1:1 student supervision for	2013-14	Pay Reg Rate of	4.00	event 4.0 hrs per
Messina	Lorna	Setauket	before school co- curricular activities 1:1 student supervision for	2013-14	Pay Reg Rate of	4.00	event 4.0 hrs per
Mongiori	Liz	Setauket	before school co- curricular activities 1:1 student supervision for	2013-14	Pay Reg Rate of	4.00	event 4.0 hrs per
Mortilla	Kelly	Setauket	before school co- curricular activities 1:1 student supervision for	2013-14	Pay Reg Rate of	4.00	event 4.0 hrs per
Mundy	Christine	Setauket	before school co- curricular activities 1:1 student supervision for	2013-14	Pay Reg Rate of	4.00	event 4.0 hrs per
Post	Mitsuko	Setauket	before school co- curricular activities 1:1 student supervision for	2013-14	Pay Reg Rate of	4.00	event 4.0 hrs per
Pryor	Carolyn	Setauket	before school co- curricular activities 1:1 student supervision for	2013-14	Pay Reg Rate of	4.00	event 4.0 hrs per
Scrimo	Jessica	Setauket	before school co- curricular activities 1:1 student supervision for	2013-14	Pay Reg Rate of	4.00	event 4.0 hrs per
Steck	Marjorie	Setauket	before school co- curricular activities 1:1 student supervision for	2013-14	Pay Reg Rate of	4.00	event 4.0 hrs per
Spinnato	Maria	Setauket	before school co- curricular activities 1:1 student supervision for before school co-	2013-14	Pay Reg Rate of Pay	4.00	event 4.0 hrs per event
			curricular activities				

Timpanaro	Miriam	Setauket	1:1 student supervision for before school co-	2013-14	Reg Rate of Pay	4.00	4.0 hrs per event
Turner	Delvis	Setauket	curricular activities 1:1 student supervision for before school co-	2013-14	Reg Rate of Pay	4.00	4.0 hrs per event
Xia	Duling	Setauket	curricular activities 1:1 student supervision for	2013-14	Reg Rate of	4.00	4.0 hrs per
Zerbo	Nicole	Setauket	before school co- curricular activities 1:1 student supervision for before school co-	2013-14	Pay Reg Rate of Pay	4.00	event 4.0 hrs per event
G 1 .	C.	G (1 (curricular activities	2012 14	•	4.00	
Cambria Cardillo	Stacy Lynn	Setauket Setauket	Concert Chaperoning Concert Chaperoning	2013-14 2013-14	\$40.48 \$40.48	4.00 4.00	\$161.92 \$161.92
Cohen	Rosa	Setauket	Concert Chaperoning	2013-14	\$40.48	4.00	\$161.92
Clyne	Theresa	Setauket	Concert Chaperoning	2013-14	\$40.48	4.00	\$161.92
•	Pamela	Setauket	Concert Chaperoning	2013-14	\$40.48	4.00	\$161.92
Feliciano	Luz	Setauket	Concert Chaperoning	2013-14	\$40.48	4.00	\$161.92
Fortier	Melanie	Setauket	Concert Chaperoning	2013-14	\$40.48	4.00	\$161.92
Haselton	Patricia	Setauket	Concert Chaperoning	2013-14	\$40.48	4.00	\$161.92
Homan	Debra	Setauket	Concert Chaperoning	2013-14	\$40.48	4.00	\$161.92
Kelly	Kelly	Setauket	Concert Chaperoning	2013-14	\$40.48	4.00	\$161.92
	Peggy	Setauket	Concert Chaperoning	2013-14	\$40.48	4.00	\$161.92
	Donna	Setauket	Concert Chaperoning	2013-14	\$40.48	4.00	\$161.92
McAlister	Cindi	Setauket	Concert Chaperoning	2013-14	\$40.48	4.00	\$161.92
Messina	Christine	Setauket	Concert Chaperoning	2013-14	\$40.48	4.00	\$161.92
	Lorna	Setauket	Concert Chaperoning	2013-14	\$40.48	4.00	\$161.92
0	Liz	Setauket	Concert Chaperoning	2013-14	\$40.48	4.00	\$161.92
Mortilla Mundu	Kelly Christine	Setauket Setauket	Concert Chaperoning	2013-14 2013-14	\$40.48 \$40.48	4.00 4.00	\$161.92 \$161.92
Mundy Post	Mitsuko	Setauket	Concert Chaperoning Concert Chaperoning	2013-14	\$40.48 \$40.48	4.00	\$161.92
	Carolyn	Setauket	Concert Chaperoning	2013-14	\$40.48 \$40.48	4.00	\$161.92
Scrimo	Jessica	Setauket	Concert Chaperoning	2013-14	\$40.48	4.00	\$161.92
Steck	Marjorie	Setauket	Concert Chaperoning	2013-14	\$40.48	4.00	\$161.92
Spinnato	Maria	Setauket	Concert Chaperoning	2013-14	\$40.48	4.00	\$161.92
Timpanaro	Miriam	Setauket	Concert Chaperoning		\$40.48	4.00	\$161.92
Turner	Delvis	Setauket	Concert Chaperoning	2013-14	\$40.48	4.00	\$161.92
Xia	Duling	Setauket	Concert Chaperoning	2013-14	\$40.48	4.00	\$161.92
Zerbo	Nicole	Setauket	Concert Chaperoning	2013-14	\$40.48	4.00	\$161.92
Cambria	Stacy	Setauket	Chaperoning After	2013-14	\$40.48	4.00	\$161.92
Cardillo	Lynn	Setauket	School Events Chaperoning After School Events	2013-14	\$40.48	4.00	\$161.92
Cohen	Rosa	Setauket	Chaperoning After School Events	2013-14	\$40.48	4.00	\$161.92
Clyne	Theresa	Setauket	Chaperoning After School Events	2013-14	\$40.48	4.00	\$161.92
Ehlrich	Pamela	Setauket	Chaperoning After School Events	2013-14	\$40.48	4.00	\$161.92
	Luz	Setauket	Chaperoning After School Events	2013-14	\$40.48	4.00	\$161.92
Fortier	Melanie	Setauket	Chaperoning After School Events	2013-14	\$40.48	4.00	\$161.92
	Patricia	Setauket	Chaperoning After School Events	2013-14	\$40.48	4.00	\$161.92
Homan	Debra	Setauket	Chaperoning After School Events	2013-14	\$40.48	4.00	\$161.92
Kelly Kollmeier	Kelly	Setauket Setauket	Chaperoning After School Events Chaperoning After	2013-14 2013-14	\$40.48 \$40.48	4.00 4.00	\$161.92 \$161.92
Kommerer	Peggy	Selaukei	School Events	2013-14	\$40.48	4.00	\$101.92
	Donna Cindi	Setauket Setauket	Chaperoning After School Events Chaperoning After	2013-14 2013-14	\$40.48 \$40.48	4.00 4.00	\$161.92 \$161.92
WeAllster	Ciliui	Selaukei	School Events	2013-14	\$40.48		\$101.92
Messina Messina	Christine Lorna	Setauket Setauket	Chaperoning After School Events Chaperoning After	2013-14 2013-14	\$40.48 \$40.48	4.00 4.00	\$161.92 \$161.92
			School Events				
Mongiori	Liz	Setauket	Chaperoning After School Events	2013-14	\$40.48	4.00	\$161.92
Mortilla	Kelly	Setauket	Chaperoning After School Events	2013-14	\$40.48	4.00	\$161.92
5	Christine	Setauket	Chaperoning After School Events	2013-14	\$40.48	4.00	\$161.92
Post	Mitsuko	Setauket	Chaperoning After School Events	2013-14	\$40.48	4.00	\$161.92
Pryor	Carolyn	Setauket	Chaperoning After School Events	2013-14	\$40.48	4.00	\$161.92

Scrimo	Jessica	Setauket	Chaperoning After School Events	2013-14	\$40.48	4.00	\$161.92
Steck	Marjorie	Setauket	Chaperoning After School Events	2013-14	\$40.48	4.00	\$161.92
Spinnato	Maria	Setauket	Chaperoning After School Events	2013-14	\$40.48	4.00	\$161.92
Timpanaro	Miriam	Setauket	Chaperoning After School Events	2013-14	\$40.48	4.00	\$161.92
Turner	Delvis	Setauket	Chaperoning After School Events	2013-14	\$40.48	4.00	\$161.92
Xia	Duling	Setauket	Chaperoning After School Events	2013-14	\$40.48	4.00	\$161.92
Zerbo	Nicole	Setauket	Chaperoning After School Events	2013-14	\$40.48	4.00	\$161.92

CLERICAL SUPPORT FOR VARIOUS FUNCTIONS

Last Name Azzara	<u>First Name</u> Annette	<u>Building</u> Nassakeag	Assignment Open House	Effective 10/01/13	<u>Rate</u> Regular Hourly Rate	<u>Hours</u> 3
<u>Alternate</u> Bell	Cynthia	Nassakeag	Open House	10/01/13	Regular Hourly Rate	3

AMENDMENT/REVISION

Mayer, Gwen

Status: Principal Clerk Amendment/Revision: Annual Salary Date of BOE Approval: August 27, 2013

Ms. Mayer's annual salary is revised to \$61,878 prorated.

On motion by Mr. Kornreich, seconded by Mr. Connors, and carried by a 4-0-0 vote, the Board approved the resolution as presented.

Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education, through the administration, arrange for the provision of the appropriate special education programs and services for students enumerated in the report of the Committee on Special Education.

On motion by William Connors, seconded by Irene Gische, and carried by a 4-0-0 vote, the Board approved the resolution as presented.

Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education, through the administration, arrange for the provision of the appropriate special education programs and services for students enumerated in the report of the Committee on Preschool Special Education.

On motion by Mrs. Gische, seconded by Mr. Connors, and carried by a 4-0-0 vote, the Board approved the resolution as presented.

OTHER ITEMSMr. Connors announced that tickets for the Three Village Educational Foundation raffle are
available for purchase.

PUBLIC PARTICIPATION

Recommendations of Committee on

Special Education

Meetings of: May 16, June 6, 14, July 3, 17, 23, 24,

August 7, 14, 15,

21, 22, 26, 28, 29, 31, September 6, 13, and 16, 2013

Recommendations

of Committee on

Preschool Special

Education

16, 2013

Meetings of: September 5 and

ADJOURNMENT

There being no further business to be conducted, motion was made by Mr. Connors, seconded by Mrs. Gische, and carried by a 4-0-0 vote to adjourn the meeting at 7:59 pm.

There was no Public Participation at this time.

Respectfully submitted,

Kathleen Sampogna District Clerk